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B2 A= #Hed 0 20,000 A 20,000
307 glztol & 0 20,000 A 20,000
02 I HAMAEE 0 20,000 220,000
OBI2 8= HLHY 38 0& 0 20,000 220,000
st gl AW 012 AJINE 0 2,700 A2,700
307 212t0l & 0 2,700 A2,700
02 QB AAMPEE 0 2,700 A2,700
Ostal & A 0l AJltsl 28 0¥ 0 2,700 A2,700
ASO0tE2 dUe DI=dE 0 3,600 23,600
307 212t0l & 0 3,600 23,600
02 (B AANHEE 0 3,600 23,600
OMNZ0IEE2 U= 0lzdE 23 0 0 3,600 3,600
ostie s4d 0 2,100 A2,100
307 glztol & 0 2,100 2,100
02 I HAAMAEE 0 2,100 2,100
ootstte s44d 23 0¥ 0 2,100 A2,100
S48 g28%3 0 99,000 99,000




2N
X ZH -
L= B

el

M0 MO MO

= -2 (ZH) - MM - BES Off &4 I E M Husz
307 £I2+0I & 0 99,000 99,000
02 It P A A B X 0 99,000 99,000
Og8 zaiges 23 08 0 99,000 99,000
NA2s SHANY (SR H4H 2HAER 29) 119,700 177,160 A57,460
201 Yur2 Y| 29,300 68,660 £39,360
01 AtR 22l 14,300 23,660 £9,360
Ogst&gY| 2 2,000,0009 2,000 4,000 £2,000
OE22 M 23 1,500,008 1,500 2,500 A1,000
OxgAR2 23 9,000,0002 9,000 15,360 16,360
03 #AI2 I 15,000 45,000 £30,000
OHAWE QHAER} FOIIs 153
23 0¥ 0 10,000 210,000
OFAWY @I AEe 2z g4 I ZF 02 0 20,000 20,000
301 LB BHZ 85,400 98,500 £ 13,100
09 BAHAHIXI® 2 1,000 2,000 A 1,000
OF2d 2ANAEet YU ZF 1,000,008 1,000 2,000 1,000
00EEe - SSLS2AS 23,280 27,410 £ 4,130
OXFT S 14,780 17,170 ~2,390
~Es G 23 2,000,0009 2,000 4,000 £2,000
-Zol 2 AP NH4LY FH 780,009 780 1,170 A390
OHNAERSY 8,500 10,240 A1,740
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